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Topic:- Child Development & Pedagogy (CDP)

1) are the self-fulfillment needs according to Maslow’s Hierarchy of needs. | AT

BT RO BT UGIIHH P AR w@-qfd F razgwant g
1. Self-actualization / 3{TH-fARATTT

2. Physiological needs / fhardd Sraggdar

3. Belongingness and love needs ACEIRS] 3R TR Pt ALl

4. Esteem needs / a?ﬁ EE3IY

Correct Answer :-

« Self-actualization / 3TH-faTeyor

2) What part of the personality operates on the pleasure principle according to Freud? /

WIS & TR, 3¢ Rixid UR AfdIcd BT S AT YN FeTferd gial 82
1. Ego ideal / 37§ 3Me (7T 3M1gST)

2. Superego / TRTE (FURSTM)

3. 1d / O89H (3231

4, Ego/\’rfg(_'é"ﬂ)

Correct Answer :-

. 1d/ UgdH (3158}

3) What is the time in a child’s life between childhood and adulthood known as? / dTcdTd=IT

3R IEHAT & 419 TP 9= & Sita-T | BI A1 9T FiaT1 82
1. Adolescence / T RIRTARIT
2. Menarche / W
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3. Middle childhood / H& dlcdTdRAT
4, Puberty / BIGE|

Correct Answer :-

« Adolescence / |$Qi|€|a@4|

4) What is the term given to describe the sudden ‘aha!” moment that sometimes helps us

solve problems? / TP “3{gI!” WWWW%%Q@HWEWW%,GP[
F-wft g guESl B g6 H | dag praTe?

1. Flashbulb / TRiRT §cd
2. Insight / 3@%@

3. Observation / 3AQIH
4. Deduction / TRRUMH

Correct Answer :-

« Insight/ &lﬂ%@

5) What is the term given to denote the ability of a test to consistently measure what it is

designed to measure?/WHﬁ&ma&&mﬁﬁFﬁamﬁ%mﬁqwmﬁmw
&, ot srg=var & a1+ & forg 59 fewims [ man g2

1. Norms / AMFGS
2. Reliability / fayG=gar
3. Reasoning / GCY

4. Validity / I&dT

Correct Answer :-

« Reliability / fayg=Taar

6) Benefits of Inclusive Education are: / THTARI fQT&‘IT > A %
1. Develops moral and ethical principles only / Fad Afdd 3R Ffaemd Rigid fawRa e

2. Increases communication and social skills only / Had TR 3R IS HIR del-l

3. Increases acceptance and appreciation of diversity only / Pad fafaedr ot m 3R Trer
del-l

4. All of the above / Judad Taft
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Correct Answer :-

« All of the above / Iudad Faft

7) The urge to provide care and protection to offspring is motive. / Tl @I a@"lﬂﬁ

IR TCH PA BTSRRI
1. Sex /T

2. Maternal motive / ATq TR

3. Achievement / U

4. Affiliation / JaY

Correct Answer :-

+ Maternal motive / HIJ YR

8) Which of Erikson’s stages of psychosocial development results in the virtue of

%)%n}pgtence? /W%WW%ﬁQWﬁmﬁﬂTmmﬁ

1. Trust vs. mistrust / TAY™T S99 Sifayry

2. Intimacy vs. isolation / ‘aﬁg?n JTH I

3. Ego integrity vs. despair / 3§ 3RASdl CEIERENE)
4. Industry vs. inferiority / URYE S Bl

Correct Answer :-

« Industry vs. inferiority / URYH S 1 g1l

9) Which of the following strategies cannot be used by a teacher for a mentally retarded

learner?/ﬁ%ﬂﬂﬂ%ﬂﬁﬁﬁﬂﬁ@%%mmﬁﬁmaﬂi
fAfa &1 Iy Y far < gwar 32

1. Breaking smaller tasks into large steps. / B Hie Hrl A EI@ P # fyuIford s

2. Presenting the information to learner using visual aids. / €Y TS &l JuanT %R Rremeff (FFTT) CIRSIECAR]
TG PRATI

3. Involving the learner in group activities. / g Tfafafiay & fRremeff (EF[T) CIRIESEZSI

4. Providing the learner with immediate feedback. / fRremaff (?FTT) ®I I Td Uidihar Tar &Rl

Correct Answer :-

« Breaking smaller tasks into large steps. / DI Hie BT q I8 B H fAUTRTG BT
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10) According to Good and Power, which category of students are more likely to engage in outbound
activities? / 33T 3N Yaadl & IR, BT B fH Aot A snsearss nfafafiral & wew g1 9t siftre
HUTST 82

1. Social / TSR
2. Phantom / aﬁ?'q
3. Successful / H Al

4. Dependent / Rk

Correct Answer :-

« Social / ITHISTH
11) Specialized teaching strategy geared toward supporting student’s learning is IBEASD
Hram &1 90l F31 & fig dur fafkre Rrgror orifa ]

1. Writing / ORG-1
2. Scaffolding / HHIfET
3. Reading / UTd

4. Brainstorming / faaR-HY

Correct Answer :-

« Scaffolding / THBIET

12) Which of the following is not one of the main method of deriving traits? / Frafafea o & s qaor
T H31 9t gor fify o § v i 82

1. Hypothetical / UTdh cTATHD
2. Lexical / Qe

3. Statistical / GiRADIT

4. Theoretical / Sgifaed

Correct Answer :-

» Hypothetical / UTdh cUATHD

13) Which of the following is true about modern evaluation? / JTYf~® TeIi®H- & IR | fAufafaa o
A B A HL 32

1. Summative evaluation / q\l‘lld\Hd> J-cl\qtlid%'l

2. Continuous evaluation / Idd HedTh


https://applink.adda247.com/d/XhqWf9lSap

e
Google Play

3. Product orientation / 3G SHEIDHRUT

4. Rote learning / I¢HR HRGT

Correct Answer :-
« Continuous evaluation / gdd Hcdihd

14) Which among the following is NOT the focus in planning and delivering a developmental,
comprehensive guidance and counseling program? / frafafada & faom, e
IR RTRT HRIHH Ft A1 T SR fIafka s § o Hfea 78 dar g2

1. Financial / fa<ig

2. Personal / SfaaiTd

3. Social / QIHTTH

4. Academic & career / QI&TOTHAT 3R HRIAR

Correct Answer :-

e Financial / fa<ig

15) Who elaborated an enormously complex notion of natural development under a thinly disguised

divinity? / fFaq TRI® A U5 fAaudT & dgd WHla® fAsTa &1 Th TS SAfed YR B
faeqa faram?

1. Baldwin / dlcS aq
2. Erikson / gﬂ_cf\‘:l_"l
3. Piaget/ IERIE

4. Vygotsky / a@’n@éﬁ

Correct Answer :-

« Baldwin / STcSTaH

16) The value of standard deviation in the ‘Deviation IQ distribution’ is: / CERE an‘éaqﬁaw' |
S g s1aA 8

1.1
2. 15
3.10

4.0

Correct Answer :-

e 15
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17) The environment in which children grow up will how they think and what they think

%bout./mtrhamﬁaﬁa%ﬁ%%;a% Fd1 & fr 98 $A Higar @ ok 98 «ur Hiaan
|

1. maintain / IaRIT
2. weaken and disturb / HSIR GﬁT WRYE
3. scare / SX[I

4. influence / WHTfAd

Correct Answer :-

« influence / 9HTfad

18) Gender division is defined as . /ﬁ’l"Tﬁ‘l-ﬂTrF-lﬁ & =g H givyia
frarmar 81

1. Division between male employees and female employees. / YU Gﬁ?ﬁ%@ﬁﬁ%@a
fqUTSH |

2. Biological differences between males and females. /ERTGﬁ ﬁw%m@r%aﬁaw 3id¥|

3. Male to female ratio. /W@fﬂ%@&ﬁﬁ S{UId|

4. The hierarchal roles of males and females within society. / TSl & 3fdifd geul 3R Afgarsif o
ey YHdHTs |

Correct Answer :-

« The hierarchal roles of males and females within society. / THTS & 3fdifd go® 3R Afgarsii @
UaTgehH  YHeTafT|

19) What is teaching through deductive method? / FFRTHA fafr gRT fRreqor =ar 2
1. From macro to micro / Aol I IIT%’EhAf ddh
2. From general to specific / I ¥ ARy d&

3. From specific to general / ICIRERESICIRGED
4, From easy to difficult / AT J Hied dd

Correct Answer :-

« From general to specific / AT ¥ Ay a&

20) Students don’t want to learn new concepts which are ____. / @ faegmffst __ &
g a1 12 Srayrunaif B e T argd @ |
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1. Ambiguous / HfeTemefe
2. Intelligible / IfSITRT

3. High quality / agﬂ?

4. Plausible / Ab-TT

Correct Answer :-

» Ambiguous / dferendes

21) Which of the following statements is NOT true? / R sy A S s a1 I T-I'Q‘T

82
1. Some diseases and disorders are a product of inheritance. / & A7 3R faBdR CRUGUGI g El

2. Enriched environment enhances child’s development. / JH& dTdIdRU] dta % f&dOIH ?b;f deldI %I

3. All genetic disorders can be prevented by taking proper measures. / S U HReh et &W

fIHRI B AT o THAT 5|

4. Children are able to learn more finite skills through play. / T T P 71H T 34fp uRfAd SR
T wem g |

Correct Answer :-

o All genetic disorders can be prevented by taking proper measures. / 3 IJd IUTT PR Ut &naa%
fART BT AehT oI avelT B |

22) In Piaget’s theory of cognitive development, what is the goal of the ‘Concrete operational’ stage? /

e & SaTee Ao & Rigia §, qd Siharars sawr &1 asd |1 82
1. Operational thought / Sfardes fdar

2. Abstract concepts / Sﬂﬂ\?f STYROMT

3. Object permanence / d¥] fRRar

4. Symbolic thought / PRICACACEIN

Correct Answer :-

e Operational thought / dfdardes faar

23) Which of the following is not a concept related to classical conditioning? / Frafafaa 7 9 #19 H@

FaTiye! St (RRufaf¥d wgean) @ Sdfta saemom 78 82
1. Neutral stimulus / dc&[ E@W

2. Conditioned response / 3II&TId 3ffebar
3. Shaping / fAeuu (@ﬁﬂ)
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4. Stimulus generalization / B_Gﬁ'W IR

Correct Answer :-

 Shaping / Ao (‘\ﬁﬁ"'[)

24) Each child is unique. This statement refers to the principle of: / Y% g=IT ifgd1y B
g HYA & Rigia ot "efila svar 21

1. Continuity / ARl
2. Uniform Pattern / Tdh=Udl
3. Integration / UG

4. Individual Differences / 3afaIdd FasrdT

Correct Answer :-

¢ Individual Differences / Jufaae fasrdn

25) Similar attributes are combined together by the child to form ./ &

fafor & o= gRT v |1y A faivarsii &1 ey a9 9T @

1. Concepts / 3{dYRU

2. Letters / 3{&R

3. Words / Teq

4. Judgments / 3TTHIT
Correct Answer :-

o Concepts / IAYURUT

26) Children gain a good understanding of scientific reasoning and practice because of

pedagogical approaches that focus on: / R&ifore TRHIU A frg R ooF Ffgd PR A=
AT ad 3R AT FI IS A BT B 8-

1. Writing skills / TG &l
2. Scientific ideas / W ICEIRY

3. Communication / GIR

4. Student activity / faemeff ygfr

Correct Answer :-

« Scientific ideas / A3 AR
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Inclusive education is a new towards educating the children with disabilities. /

TaTaRh fRreror, feeai o= &) Ruféa w31 3 fozmn & v T4 gl
1. Demand/ﬁlﬁT

2. Approach / SUNTH (BN
3. Direction / G (fa=m)
4. Process / Ufoar

Correct Answer :-

. Approach / 3UNTH (¥

28) Ignoring of the learning- readiness would result in ./ SIfRRTH - TeRdT 1 IU&T
¥ IR W giome Gt

1. Development / fd&r™a
2. Maturation / GRU&dl

3. Improvement / YR

4. Frustration / R

Correct Answer :-

« Frustration / TFRTRT

29) Self-evaluation by a teacher shows his role as a VAL e grT m-w It
YfireT Ft gRifaT 3|

1. Classroom researcher / @& Rnemeff
2. Reflective practitioner / faaR=ia gite (Rudifdea Haeer)

3. Co- learner / “Gl%’-ﬁT&lTlﬁ(?Fh)
4. Facilitator / UfR1&fe

Correct Answer :-

« Reflective practitioner / faaReha gite (Rudfaea dfdewrR)
30) What does the term ‘Dyslexia’ denote? / TSR W fFd fAefa ®var 82
1. Difficulty in taking notes. / =h'c'§r REEKCaird

2. Learning difficulty that can cause problems with reading, writing and spelling. / IR &t ?51%_"”% S

U, fore™ 3R ad-t & g O & gohat 2

3. Learning difficulty with number processing and calculation. / TR FHTH T 3R UM & 1y WRa #
I
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4. Specific handwriting disability. / fafRry ferarae fasiman

Correct Answer :-

» Learning difficulty that can cause problems with reading, writing and spelling. / HRa &t EFI%_"ﬂg S
Ug, fera SR =it & waan Uar o abdll 5|

Topic:- General Hindi (L1GH)

1) R A #H, foRd §U B HoI B a1 BT AN T SARAT &7 4TI FATT HeThid o (RRI®T &
91§ Y Gt af gd ?) & wereTed ‘sfems aun NSl IReR Raret Bt fidl-aR-didt B dowr A1 39
S HETHTl A $o fiaTeR gEH §WR Ufdadl § | $© IR A 399 AT UG X FHd A

YRA # 9T A FF YTTT diell Selt I8 € foreg R FHM A W ST TART IR YR | gaT 4Tl HRd &
PH-PH T Bfagl R fagHl A Tpa & 9D & YRdT Tt &1 YR WRT1 U= YRd &7 a=iF aur
o™ R-® & =0 a B

fewTera uda ofik TER-TTEY ARRY 1 UR ¥ IRA B BTl BT HSR ‘SUT-ARAARR, U= iR
AP, R M TP gl

ST T B UGHR A T MY T BT IR T8¢ ;
TR: "HORY’ BT AT 82

1. T1G B T

2. &S BT YN 7 HIAT

3. ®3 Bl I Bl

4. Y& ST

Correct Answer :-

o G H AT

2) R 9 H, foRd §T & $ad B A BT AN ST SAHRAT 71 4TI FAT HeTHhid g8 (RRI®T1 &1
éwﬁﬁﬁatf‘!ﬁ%)%m ‘sRras’ auT NS aw THaTE) B AH-R-AH B dowr A1 5T
Tt TETETaY § e ATy HETE SR UfRTal €1 T TR 6 SR DT a1g 3% 69 A

YRA § T | HF YT Sielt et 6T € fvmg R F0M # O d &1 WaRT IR YR | 8T 4Tl YR &
PH-PH T Bfagl R fagHl A TP & 9D € YRdT Tt &1 YR WRT1 U= YRd &7 a=iF auT
o™ R-R & =0 a6 Ham

fenTerg yda ok MER-TT8Y INR] HI UR HIh HRA P HEIAUI BT HER ‘SUT-GRAANR’, ‘Ueda’ 3R
WA, GR-gR O%M q ugT|

IUYad TR B USH A YD T YA BT 36 Ja13¢ ¢

UT: YR A1fecd 1 WUSR fagri A fa wrar & siivd wRr?
1. H&pd

2. fet

3. Tt
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4, QYT

Correct Answer :-

3) RMA 7HM ¥, & gU &) 3R B A7 BT AN BT ST & AT | FAT! HeTha gR (Ryet s1a
1 ¥ it 9 7 gd 3) & AT shes’ aun SRt IRaR THaTel Bt idl-R-0dl B Fow A1
2 HETeTe! § Po e IFEY gUR YRl 81| $© IR §) HA AT 16 B 9ad U

YRA # FeT A HF YTTT Sieil Srelt 81 € foreg R F0M A I ST UANT IR YR | glaT 4Tl HRd &
FH-B A Hfaar 3R gl A Tpa & TRA § YR g &1 WSR URTI U YRd ST =i adT
O gR-gR & =0 @ T

fewTerg wdd 3R TER-TTEY ANRI B UR S WRA 1 BTl T SR "SU-ARTARR, “dadar’ 3R
WA, gR-gR 4%M 9% ug Tl

ST TR H UgH - U T Y= HT IR Ja13¢ :
WRH: URA | fpat YTaTe Siet STt 872

1.

2.3l

3.0

4. 3D

Correct Answer :-

4) R oM ¥, A §T B oI H A BT AR BT SHRAT &7 YT AT HgTH1d AR (Rrae1 s1a
émﬁﬁﬁaﬁqﬁ%)%m ‘gfergs’ aur NS 9giar THaTal @1 fid-R-Nd B Fowu A1 59
S HETeTe! A Po PR JFE SR Ul 8 | $© IR al T AT 16 B 9ad U

YRA # FeT A HF YTTT Siell Selt 81 € foreg R FHM A I ST UART IR YR | giaT U7l HRd &
FH-B1 A Hfaat 3R fagFl F Tpa & TRA § YR g &1 WSR URTI U YRd $T =i adT
O gR-gR & =0 aw T

ferTera udd 3fik MER-TTEY INRI B UR HXP HRA Pl HEIAI BT HER "SU-GRTANR’, ‘Toda’ 3R
AP, gR-g¥ oM aP ugdT|

IUT TR P UG 1Y IR T U= HT 3w 9150 :
U R F9M § YR d f5T YT &1 wahT ghar 42
1. H&pd

2. fgdt

3. 3l

4. TR I PIS Ta!

Correct Answer :-


https://applink.adda247.com/d/XhqWf9lSap

e
Google Play

5) M TUM ¥, 1@ §T Ht &I B A7 BT AN BT SFRAT T AT | AT HgTHhia g (Foraet w1a
1 ¥ it 9 7 gd 3) & AT shes’ aun SRt IRaR THaTel @t idl-R-0dl B Fow A1 §H
S HETeTe! A po e IFEH SR YRl 81| $© IR 6 T AT 16 B 9ad U

YRA # FeT A HF YTTT Siell St 81 € forg R FHM A I BT UANT IR YR | gaT U7l HRd &
FH-H1 A Hfaar 3R gl F Txpa & TRA § YR g &1 WSR URTI U YRd $T =i adT

fagm R-gr & 0 9@ )
fewTerg wdd 3R TER-TTEY ANRI B UR S WRA 1 Il T SR "SU-ARTARR, “dadar’ 3R
WA, gR-gR o%M 9% ug Tl

IUY T TR P UG 1Y IR T U= HT 3w 9150 :

UR: URA B1 B At HH BT HUSR gR-g1 o201 ab Ugan?
1. B S

2. B HYU-IRAITR

3. dhad Ugad

4. JURTer] T

Correct Answer :-

o SWRIad g

6) R UM H, ford U &1 H3T R A BT ARN BT ST &7 AT AT HeThid grR (Rt &ra
& 9 =it i 7 gd 3) & weTeT Iheme’ aur AR AR TG 3 Rf-R-Nd P Fow A1
2 HETPTe] § Pl fiaTey AgEH TR Ufkial 81 $© IR |l ST AT UG B Fha A

YRA # 9T A HF YTTT Sielt Selt 61 € forrg R FHM A I¥pd ST UART IR YR | gaT U7l HRd &
FH-B11 A Bl 3R gl I Tpa & FRA g YR Ffg ST WSR URTI U YR $T =i adT

fagm QR-gr & =0 9 B
fewTerg wdd 3R TER-TTEY ANRI P UR S WRA Bt Il BT SR "SU-ARTARR, "dadar’ 3R
AP, TR-GR &0 T Tg

ST TR P UG 12 IR T U= HT 3R 9a15¢ :

w: ‘gferrs’ iR 3SRy ueTHTa ® Fa e fea-t uiemr 82
1. 38,000

2. 18,000

3. 28,000

4. 27,000

Correct Answer :-
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7) W FUM ¥, o T o1 Ho® R A1 BT AN BT ST &7 AT AT HeThid g (et &1
1 9 it 9 af yd ?) & HereT IR’ auT SiSY IR THaTa 9t fid-ar-0id B o 31 37
S eTHTa ¥ ot fArareR gTSH BWR Uil € | $© IRUT df 3/ NIET UG R Jba A

YRA H T | HF UTITE Sieft ot T8 € fvmg R FHM # O d T WaRT IR YR § 8T 4Tl YR &
PH-PH T Hiagl o fagHl A IRpa & TR § YR IR FT USR WRTI U URE BT = auT
g™ R-® & =0 a6 Ham

fewTera wda ok TER-TTEY ARI B UR FRa YR B bel-al BT HSR "HUT-ARawmR, ‘dadr 3R
AP, R S TP gl

IUYad TR B UgH R YD T YR BT 36 Ja13¢ ¢
WH: “Ugda’ | S AT AN 82

1. fgty urg

2. g QU

3. 3IUIHI A

4, HHYRY FHY

Correct Answer :-

- ey aa

8) RTH 9N ¥, A 5T &l oI HX A BT AN BT SFRAT 71 YT FAH! HETH1d FHR (RrIPp1 H1et
a9 =it 9 7 gd 8) & wETeT Shme’ aur A e TaTEl B Rh-R-N P Fow A1 g
I HETHTal ¥ d ey SgTSH SWR Ufddl ¢ | $© IRVT df 399 TFT I1E $R Johd A

YRA § aT | FF UTTE Fielt ol 6T € fbrg RA FHM # Opd T WART IR YR | gidT 4Tl YRd &
PH-B A Hfaat 3R gl A TRpa & TRY g YR e &1 YSR URTI UTHT YRd $T =i adT
fag gr-gr & =0 9 )

fewTera wdd 3R TER-TTEY ANRI B UR H¥eh WRA 1 ST BT SR ‘SU-ARAARIR, “dadar’ 3R
TP, TG G AP Tg

ITYed TN H1 UgH 1 YD T YR BT 36 Ja13¢ ¢
T=: ISR fbwes grRT I Ue WeTeTe 3?

1. 3ferge

2. BIARS

3. B

4. ey

Correct Answer :-

9) RTH 9HM ¥, I 5T ! oI H A1 BT AN BT SFRAT 71 YT FAT AETH1A FHR (a1 H1et
39T 9 Y Ot 9 qd B) & wereray ‘sferas’ aun SR iR mHaral 3 fidt-gr-fid  dow A1 37
S UETHTal § o ey SgTSH SWR Ufddl € | $© IRT df 399 THT U1g $R Johd A
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YRA # 9T A HF YTTT Siell Srelt I8 € foreg R FHM A W ST UANT IR YR | gaT 47| HRd &
PH-PH | Hfagl iR gl A TRpa & 7R § URdg IR T YSR W11 URE YR &7 o= aur
O gR-gR & =0 aw e

fewTerg wdd 3R TER-TTEY ANRI BT UR H¥h WRA Bt DIl BT SR "SU-ARTARR, “dadar’ 3R
WA, gX-gR 4% 9% ug Tl

IUad TN DI UGH A YD T YA BT 36 Ja13¢ ¢
TR: AR B A?
1. DYDHR

2. JYUp

3. HgThid
4, =T

Correct Answer :-

10) A A #H, foRd §T S HoI B A4 BT AN T SARAT &7 4TI TATT HeThid g (RRI®T &1
$a1 9 it Wt 9 7d ?) & weTere sias aur SiSie ARieR Harel 3 did-R-fd i dow A1
3 HETPTel § Pl fiaTey ASEH TR UfRTal 81 $© IR df SHA INAT UIG A Fha A

YRA # 9T A FF YTTT diell St 61 € foreg R FHM A W ST WANT IR YRA | g1 4Tl HRd &
PH-PH | Bfaal R fagHl A Tpa & 9D & YRdT Tt 1 YR W11 U= YRd &7 a=F aur
o™ R-® & =0 a B

fowTera uda Siik TER-TTRY ARRT B UR H¥h HIRA B BT~ BT HSR 'SUT-ARAARR, ‘dued 3R
AP, GR-gR S| I ygT|

IU TR P Ugh? 1 I Y Y= HT 3R qa1sy :
U: IR BT HETHIA 72

1. 3ferH

2. 3ferTs

3. SfrSil

4. P IS D

Correct Answer :-

11) R 9HM #H, A §U S $oI B A1 BT AN T SFRAT &7 4TI FATT HeTHhid g8 (RRI®T ®ra
91 3 =t I af qd ®) & AeTeTa ‘sferas’ auT ‘NSl iRaR ATl Bt fidt-aR-0dl B dows A1 3
3l wETETe § po RIareT JgEY R Uil €1 $© IR |l 39 HIET 91¢ B G A

YRA # 9T A FF YTTE diell Selt 61 € forg R FHM A T ST TR IR YR | gaT 4Tl HRd &
PH-PH T Bfaal R fagHl A TRpa & 9D & YRdT Tt &1 YR WRT1 U= YRd &7 g=iF aur
o™ - & =0 a Ha
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fewTera udd 3R TER-TTEY ARI B UR 6 WRA 1 BT T SR ‘SU-ARAARR, “dadar’ 3R
TP, TG G AP g

UG TR BT U F1Y Y T U= $T IR G5 :
U ‘HEThTH’ Weg | B AT JAN 82

1. f&1g

2.%g

3. TSN
4, HHYRY

Correct Answer :-

. HHYRY

12) RM T #, ford gU &) oy B A BT AN BT SFIET &7 4TI FATH HgToid iR (oraet &1a
<A1 9 At ¥ 99 gd 3) & HeTeprad 'sfergs’ aur S UdieR MHaral ot Nidt-ae-didl 9 dow A1 37
S UETHTal ¥ o ey gTSH SWR Ufddl ¢ | $© IRUT df 399 THT U1g $R I A

YRd § ST T BT YT Jielt oIt 61 ¢ fbrg R F0M ¥ Opd T TaRT IR YRd | g7 4T1 YR &
PH-PH T Hiagl R fagHl A WP & AR & YR Tt 71 YSR WRT| U YR &7 a=14 ad1
fagm gr-gr & =0 a Tl

fewTera udd 3R TER-TTEY ANRI B UR S WRA 1 Il T SR ‘SU-ARAARR, “dadar’ 3R
WP, GR-GR &% 9% Ug|

IUYa TN B UGH A YD T YA BT S@X 9d1sC :
U 3AIET Xeg BT GUHTAT Jeg T 82
1. Had A

2. Had U
3. had fARTar

4. IRIad g+t

Correct Answer :-

. SWRIad gt

13) M T #, IS g B FoI HR A7 BT AN BT AT 71 411 TATT TgTohia iR (Rraet sa
<41 9 A ¥ 99 gd 3) & HeTepred 'sfergs’ aur S UdieR MHaral ot Nidt-ae-did) B dow A1 37
Sl HETHTal § o ey TS SWR Ufddl € | $© IRT df 399 THT U1g $R I A

YRd § TeT A HS YT Fielt ol 61 & fbrg R F0M ¥ Opd T TaRT IR YRd | g7 4T1 YRd &
PH-PH T Hfagl R fagHl A WP & AR & YR Tt 71 YSR WRT| U YR &7 3= a9T
e gR-gR ¥ A= @@ T

fewTerg udd 3R TER-TTEY AWRI BT UR H¥h WRA 1 BTl T SR "SU-ARAARR, “dadar’ 3R
WA, gR-gR o%M 9% ug Tl

IUYa TN B UGHR A YD T YR HT 3@ 9d1s¢ :
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W: fag g &1 Wi g @@ gRI?
1. fagrdt
2. fqart
3. fdapRY

4. fargHh

Correct Answer :-

14) RM FE #, ford g &) o B A BT AN BT SFIET &7 4TI FAT HgTwid iR (oraet &1a
1 @ 9 9 o i B) & weTeTen ‘SR’ aur S IRer TRae) 9 A-R-0d B dowr A1 57
S HETETa ¥ $d faTe g1 WR Ufedl 8 | $© IIRUN df 399 IR[AT I1g 3% JHd |

YRA § aT | HF UTTE Sieft ot 6T € fbmg RA FHM # Wpd T WaRT IR YR | 8T Tl YRd &
PH-B1 A Hfaal 3R gl A TRpa & FRY g YR e ST SR URTI UTHT YRd $T =i adT
g R-gR & =0 a6 Ham

fewTera wdd 3R TER-TTEY ANRI B UR S YR Bi BT T SR ‘SU-ARAARR, “dadar’ 3R
“ATAS’, gR-g¥ oM ad ugdT|

SUYH TR BT TP A1 D T U HT I Ia15E :

UH: URA & DH-BH H YR Aifigd BT HSR fha w12
1. TH A B e

2. Had Bl =

3. bad fagHI

4. Bfadl SR fagmi aHi A

Correct Answer :-

. Piodl SR fagHi aFl A

15) RM FHH #, ford §T &) oy B A7 BT AN BT 3FIGT &7 4TI FATH gToid iR (oraet &1a
a9 =it 9 o gd §) & wETeT ShTe’ aur A IaR TaTE B Rh-R-Nd B How A1 g
S UETHTal § d ey TS SWR Ufdddl ¢ | $© IRUT df 399 THT TG $R Johd A

YRA # FaT A HF YTTT Sieil Sredt 81 € foreg R F0M A Ipd ST UANT IR YR | gia1 U7l HRd &
PH-H1 A Hfaat 3R gl A TRpa & TRY § YR e $71 YSR URTI W YRd $T =i adT
fag gR-gr & =0 9 )

fewTerg wdd 3R TER-TTEY AWRI B UR S WRA Bt BT T SR "SU-ARAARR, “dadar’ 3R
WP, GR-GR &% 9% Ug|

SUYH TR BT TP A1 D T U HT I I8¢ :
URH: YIRd B He1ai fPFae! TR 3@ gr 320 a ugH?
1. 3TH Y BIs T8
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2. fewTea udd iR 9Ri gAY
3. Had gAY Udd
4, Had IARI

Correct Answer :-

16) 3d Siafal # eFdda & @e,
T g} TaaTg SN 961 @ To—as |
TRERTTAE I 331 4T Fef It
3t -3 | 3ruw g Il gt
WA P TEATPH IR BT,
8 7w ? 5 ol vgw & g W)

Iued U Bl USHR A YD WF ard U= BT I Ja13¢|
T T3-S W A R A A A @2

L. I

2. TR A BIS ST

3. fadim

4, TET

Correct Answer :-

17) 3id eiafvel § eFd 39 § @,
[HE § TaaTg ol 991 78 98-S |
RERTTE I IS8T 94T gt gt
Y -3 H U gt Tl |t
WAGN P TEATPH IR BT,
a8 wgw ¢ 1% St age & R m

Iued UL $I USH I YD W1F ard Y= BT IW Ja13¢]
UH: 3Fd $T IaH eg FT N2

1. URY

2. 3febTd

3. Giferd

4, 3id

Correct Answer :-
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18) 3rid Siaf¥al # eFid g & @S,
[HE B TaTg Sl 991 T6 93 |
RERTGAH I I3 74T &1 gaft
3} -3 A 3w gl Tl g
WA P TEATPH IR BT,
a8 ug § b ot agw & fog W

IUYed UL $I UgH I YD W1 a1 U= BT I Ja13¢]
UH: ‘3A...... TS Ufd § DI AT AP 82

1. 3TH A BIs 78!

2. FTEIfed

3. dehlfck

4. dlu®

Correct Answer :-

. TIPS 7!

19) 3d fafve # AT 3T & WS,
qHe € TaaTg ol 991 38 T9-T3|
RERTIAE I IST 9T got gt
3t sra-3i H 3w gt Tl |afti
WAN P TFEATIH IR PFTW,
T8 7w ? f o ugw & g wv)

STdTE Ui P UG 1Y YR oH AT =R P 3w qarsy|
UH: WE1g’ W W BT AT /172

1.3 d

2. Y™

3.4 ¥

4, 3fcild ¥

Correct Answer :-

20) 3rd sjafve # sFid a & @R,
Tue € TaTg o) 9971 3¢ ge-a3 |
TRERTIAE I IS 9T Igt gt
3t 33 H s g Tl |afti
WA P TEATFH IR PTI,
T8 7w ? 5 o vgw & g W)

ST TR B UgH A TR A aTdt U BT I qars|
UL ‘3aRer’ Wsg HT Uaiuar=i WUsg HI AT 81 82
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1. 94
2.4
3. HIH

4, THHUS

Correct Answer :-

21) 3id 3afvel § 3Fd 39 @ @S,
[HE B TaTg Sl 991 T6 93 |
RERTTAE I IS8T 94T gt gt
3} -3 A 3w gl T g
WAGN P TEATPH IR PTIY,
T8t 77 § b ot A & fog W

Iued U $I UgH A YD W1F ard U= BT IW Ja13¢|
T: TP | DI TS 8?2

1.%%

2. &adl

3. qld

4. dR

Correct Answer :-

22) 3Fd AR A Ada e @S,
T € TaTg ol 991 | T8—a3 |
RERTTAE I IST 9T gat gt
Y -3 H U gt wel |t
WAGN P @ ATPH IR PTIY,
a8 ugw § b ot agw & fw W

ST Ui $I Ugh 1 TR WH a1 URH BT IR qarsu|
U: 49 $T UGTGaTd Xeg B A1 781 o2

1. g

2.3}

3. ald

4. 99

Correct Answer :-

. M9
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23) 3d 3iafvel § Fid 39 § @,
T B Wa1g o 941 38 Te-as |
RERTTAE I IST 9T gaf gt
Y -3 H U gt Tl |t
WAN P THEATIH IR FTW,
T8 77w € 6 o wgw & R W

STdT Ui P UG 1Y YR SH AT R P 3w qarsy|
US: 39T, SUTY U B $gl 93T &2

1. R

2.5

3. &

4.TMq

Correct Answer :-

24) 3d jafve # eFid 3a & @R,
THE § TaaTg il 991 7@ 93-S |
RERTIA I IS 9T g8t gt |
3t -3 | 3ruw Bl Tl gt
WA P TEATFH IR PTIY,
8 7w ? 5 ol vgw & g W)

SUd U F UgH 1R IR TH aTd 9= $T SR qarsy|
W=: dadl forad wWhTa & o @S 772

1. USRI A &

2. OOt &b

3. W8 &b

4, GFd b

Correct Answer :-

. RUYSRI T &

25) 3id 3fafvel ¥ 3Fd ¢a € @S,
T g} TaaTg St 961 @ go—as |
TRERTTAE I 331 74T Tl Tt
Y -3 H 3 gl Tl |t
WA P TEATPH IR BT,
a8 g g o o wyw & g W

SUYT U= Bl UHR A1d Y W1 a1 YA T IR qa13¢|
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U Hfd A TID! Th gIH? g & e il we1 3, Fifd ?
1. TS 3HHUT 3R 4 ]

2. TS T Sita STt FgaiiRal R iR g

3. TS &1 1 g AT a1 5|

4. A STATRTS Uroft ]

Correct Answer :-

- HTS BT Sita MU FeHTRe W AR &1

26) 3Fd AR A AT T e TS,
T € TaTg ol 9971 ) T8—a3 |
RERTGAH I I3 a7 &1 gaft
Y -3 H U gt el |t
WAGN P EATPH IR BT,
a8 ugw § b ot agw & fog W

ST Ui $I Ugh 1 TR WH a1 URA BT IWR qarsu|
U Hfd & AR "TIS’ S 8 §I?

1. Uh-gER &1 fa1y Y|

2. TH-gIR 9 391 TW |

3. TH-GUR o B 3|

4. Th-GER & BIH B 7 3|

Correct Answer :-

- TH-GI D DM 31|

27) 3d 3iafve # sFd e & @,
qHe €} TaaTg ol 91 38 T9-T3|
RERTTAE I IST 9T gat gt
3t sra-3i H S g el |afti
WAN P TFEATIH IR PTW,
T8 7w ? f o ugw & g wv)

STdT Ui P UgHR 1Y YR SH ard U P 3w qarsy|
UT: B3 F AR, A9 B HA1 g1 TIiee?

1. I WIUDBRI

2. Hdd AT

3. Had HATs B arell

4. JURTar] T

Correct Answer :-
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28) 3d 3jafvel # aFid a & @R,
Tuef € TaTg o) 9971 3¢ ge-a3|
RERTI I IS 9T ggt gt
Y -3 H U ) Il |t
WA P T ATIH IR PTW,
a8 W § T ot wyw & g W

STd U F UgH R IR FH aTd ¥R $T 3R Farsy|
UH: A9 Dt foaas g sft=m afge?

1. 3 & ferg

2. Y & ferg

3. @ & forg

4, HaTs & forQ
Correct Answer :-

- HaAR & forg

29) 3Fd ale H AT T WS,
Ul € TaTg N 9971 ¥8 d8—as |
TRERTEAE I 331 4T Fef Tt
Y -3 H 3 gl el |t
WA 5 TP F T 7 IR FTW,
98 7w © fb & g & g WY

IuYed U Bl UgHR A YD W1 a1d U= BT IWR Ja13¢|
US: TS I U9 | &4 g1 a1eu?

1. YIS-IR ¥

2. SYAFATY

3. faRy 9

4, R Y

Correct Answer :-

. HEARY

30) 3d 3R A Fd 3T & @S,
T € TaTg ol 991 | T3 |
RERTTE I IST 9T g8t gt
3t sr-3iw # 3ruw gt Tl |ati
WAGN P TEATPH IR BT,
T8 uge ¢ b ot agw & fg w
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Iued U Bl USH R YD W1H ard U= BT IW Ja13¢|
TR TR Ui & AT | Bid 1 T ST 9redT 82
1. TRIUHTRT

2. faenfan

3. e

4, AT

Correct Answer :-

Topic:- General English(L2GE)

1) Fillin the blank with the correct optionin the given sentence:

When many people move together, they are said to make a --motion.
1. ani--

2. auto--

3. loco--

4. com--

Correct Answer :-

2) Read the poem carefully and answer the question given below:

The air breathes frost. A thin wind beats

Old dust and papers down gray streets

And blows brown leaves with curled-up edges
At frightened sparrows on window ledges

A snowflake falls like an errant feather,

A vagabond draws his cloak together

And an old man totters past with a cane

Wondering if he'll see spring again. -By Joseph M. March
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Who is a vagabond?

1. Someone who wanders from place to place offering people jobs

2. Someone who wanders from place to place without a home or a job
3. Someone who wanders from place to place looking for a job

4. Someone who wanders from place to place helping others

Correct Answer :-

« Someone who wanders from place to place without a home or a job

3) Read the poem carefully and answer the question given below:

The air breathes frost. A thin wind beats

Old dust and papers down gray streets

And blows brown leaves with curled-up edges
At frightened sparrows on window ledges

A snowflake falls like an errant feather,

A vagabond draws his cloak together

And an old man totters past with a cane

Wondering if he'll see spring again. -By Joseph M. March

What do you think the sparrows are frightened of?

1. The chilly wind
2. The vagabond
3. The leaves

4. The old man

Correct Answer :-

o The leaves

4) Read the poem carefully and answer the question given below:

The air breathes frost. A thin wind beats

Old dust and papers down gray streets
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And blows brown leaves with curled-up edges
At frightened sparrows on window ledges

A snowflake falls like an errant feather,

A vagabond draws his cloak together

And an old man totters past with a cane

Wondering if he'll see spring again. -By Joseph M. March

Which part of the year do you think it is?
1. Early autumn

2. Late spring

3. Late summer

4. Early winter

Correct Answer :-
« Early winter

5) Read the poem carefully and answer the question given below:

The air breathes frost. A thin wind beats

Old dust and papers down gray streets

And blows brown leaves with curled-up edges
At frightened sparrows on window ledges

A snowflake falls like an errant feather,

A vagabond draws his cloak together

And an old man totters past with a cane

Wondering if he'll see spring again . -By Joseph M. March

In what manner does the old man walk?
1. With difficulty

2. Briskly

3. Angrily

4, Slowly

Correct Answer :-
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« With difficulty

6) Read the following passage and answer the question given below:

Sir Isaac Newton born in 1642, in Lancashire, a small village in England, was a clever child. He
built the water clock and an instrument to find out time with the help of shadows. Little Newton
was also interested in painting, collecting flowers and plants.

In 1665, he graduated from Trinity College. His contributions are the following: Differential and
integral Calculus and Binomial Theorem. Newton also proposed the three laws of motion, i.e. An
object moves only when force is applied; Every action has an equal and opposite reaction; and
Every particle in the universe is attracted by all other particles. Newton devoted his life to
science. ‘Principia Mathematica’and 'Optics’are the famous books of Newton. He passed away in
1727 at the age of 85.

Which college did Newton graduate from?
1. Harvard

2. Oxford

3. Stanford

4. Trinity

Correct Answer :-
o Trinity

7) Read the following passage and answer the question given below:

Sir Isaac Newton born in 1642, in Lancashire, a small village in England, was a clever child. He
built the water clock and an instrument to find out time with the help of shadows. Little Newton
was also interested in painting, collecting flowers and plants.

In 1665, he graduated from Trinity College. His contributions are the following: Differential and
integral Calculus and Binomial Theorem. Newton also proposed the three laws of motion, i.e. An
object moves only when force is applied; Every action has an equal and opposite reaction; and
Every particle in the universe is attracted by all other particles. Newton devoted his life to
science. ‘Principia Mathematica’and 'Optics’are the famous books of Newton. He passed away in
1727 at the age of 85.

Which fine art was Newton interested in?
1. Music

2. Painting

3. Drawing

4. Dance

Correct Answer :-

» Painting
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8) Read the following passage and answer the question given below:

Sir Isaac Newton born in 1642, in Lancashire, a small village in England, was a clever child. He
built the water clock and an instrument to find out time with the help of shadows. Little Newton
was also interested in painting, collecting flowers and plants.

In 1665, he graduated from Trinity College. His contributions are the following: Differential and
integral Calculus and Binomial Theorem. Newton also proposed the three laws of motion, i.e. An
object moves only when force is applied; Every action has an equal and opposite reaction; and
Every particle in the universe is attracted by all other particles. Newton devoted his life to
science. ‘Principia Mathematica’and 'Optics’are the famous books of Newton. He passed away in
1727 at the age of 85.

How could one find the time of day with the instrument that Newton had invented?
1. By means of sunlight

2. By means of moonlight

3. By means of a pair of arms

4. By means of shadows

Correct Answer :-
» By means of shadows

9) Choose the appropriate pronouns for the given sentence.

When was a young girl, __ mother taught how to read.
1. he, his, him

2. they, their, their

3. she, her, her

4, it, its, its

Correct Answer :-

e she, her, her

10) Fill in the blank with the correct option from those given below:

Always insist on speaking to the in case of any arguments with the staff.
1. managerial

2. managing

3. management

4. managers

Correct Answer :-
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* management

11) Fill in the blank with the correct option in the given sentence:

The _____ shown by the newly elected leader was extremely farced.
1. humbled

2. humble

3. humbling

4. humility

Correct Answer :-
e humility

12) Which of the following options best combines the following sentences?
The examination was over. The children were happy.

1. As the children were happy because the examination was over.

2. Happy were the children and the examination was over.

3. The examination was over and the children were happy

4. The examination being over had the children happy.

Correct Answer :-
* The examination was over and the children were happy

13) Choose appropriate articles for the given sentence:

__ leader had initiated _____ fund raising campaign for____ downtrodden.
1. no article required, the, the

2. A, no article required, the

3. The, a, the

4. The, an, no article required

Correct Answer :-

e The, a, the

14) Choose the appropriate option that rewrites the given sentence in its passive voice.
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Rajendra Chola smites the enemy in the battlefield.

1. The enemy is smitten by Rajendra Chola in the battlefield.
2. Enemy was smite by Rajendra Chola in battlefield.

3. Rajendra chola smited the enemy in battlefield.

4. The battlefield was smitten by Rajendra Chola.

Correct Answer :-

» The enemy is smitten by Rajendra Chola in the battlefield.

15) Choose the appropriate synonym for the highlighted word in the given sentence.

The fruit of one's toil helps others to continue with the mission.
1. achievement

2. hard work

3. sufferings

4. entertainment

Correct Answer :-

e hard work

16) Choose the appropriate tenses to fill in the blanks in the given sentence:

My father home a few minutes ago and

1. has left, isn't returned
2. had left, hasn't return
3. left, hasn't returned

4. leaves, isn't returning

Correct Answer :-
« left, hasn't returned

17) Choose the appropriate antonym for the highlighted word in the given sentence.
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You should not be so stern in your approach.
1. strict

2. hard lined

3. flexible

4, kind

Correct Answer :-
o flexible

18) Choose the appropriate conjunction for the given sentence:

I am unwell, I can't attend college today.
1. because

2. hence

3.s0

4. since

Correct Answer :-

19) Choose the appropriate prepositions for the given sentence:

He showed a marked distaste politics __ his tenure.
1. to, with

2. towards, onto

3. in, around

4. for, during

Correct Answer :-

« for, during

20) Choose an appropriate modal for the given sentence:

The lady standing next to me in the queue asked, ™ I use your phone please?”
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1. May
2. Will
3. Will

4, Can

Correct Answer :-

21) Choose the option that best explains the highlighted expression:

I've been beating my brains out trying to think of a way of getting the money to her in time.
1. trying to reach a solution

2. hitting my head hard

3. running from pillar to post

4. eagerly waiting

Correct Answer :-

e trying to reach a solution

22) Choose the option that best transforms the sentence into its Indirect form:

‘They should put traffic lights here; otherwise there’ll be more accidents,’ she said.

1. She remarked that by putting traffic lights, there would not be more accidents.

2. She said they should put traffic lights there; otherwise there would be more accidents.

3. She said that they should be putting traffic lights here; otherwise there can be more accidents.

4. She was saying us to put traffic lights here; otherwise there’ll be more accidents.

Correct Answer :-

« She said they should put traffic lights there; otherwise there would be more accidents.

23) Choose the option that substitutes the given phrase appropriately.

Very unhappy, bad tempered and silent
1. Sad
2. Dull

3. Morose
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4. Gloomy

Correct Answer :-
* Morose

24) Read the sentence carefully and choose the option that has an error in it:

Although he had scaled many of the world's tallest mountains, he was still looking for more taller
peaks to climb.

1. Although he had scaled
2. more taller peaks to climb.
3. many of the world's tallest mountains

4. he was still looking for

Correct Answer :-
* more taller peaks to climb.

25) Read the sentence carefully and choose the option that has an error in it:

No other quality is more important to acquire for a scientist as to observe carefully.
1. No other quality

2. for a scientist

3. is more important to acquire

4. as to observe carefully.

Correct Answer :-
e asto observe carefully.

26) Change the given statement to indirect speech.
"I can't come to the party on Friday,” she said.

1. She said I couldn’t come to the party on Friday.

2. She said she can’t come to the party on Friday.

3. She said that she can’t come to the party on Friday

4. She said that she couldn’t come to the party on Friday.

Correct Answer :-
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 She said that she couldn’t come to the party on Friday.

27) Fill in the blank with the most appropriate preposition in the given sentence.
Where can we go the movie is over?

1. after

2. before

3. below

4, under

Correct Answer :-
o after

28) Fill in the blank with the correct option in the given sentence:

Water consum-- has been particularly high this summer.
1. --ption

2. --ers

3. --ed

4, --ables

Correct Answer :-

29) Choose the right tag:

As soon as they saw the boss they panicked and started running in all directions,
?

1.isn't it
2. weren't they
3. didn't they

4. do they

Correct Answer :-

o didn't they


https://applink.adda247.com/d/XhqWf9lSap

e
Google Play

Read the following passage and answer the question given below:

Sir Isaac Newton born in 1642, in Lancashire, a small village in England, was a clever child. He
built the water clock and an instrument to find out time with the help of shadows. Little Newton
was also interested in painting, collecting flowers and plants.

In 1665, he graduated from Trinity College. His contributions are the following: Differential and
integral Calculus and Binomial Theorem. Newton also proposed the three laws of motion, i.e. An
object moves only when force is applied; Every action has an equal and opposite reaction; and
Every particle in the universe is attracted by all other particles. Newton devoted his life to
science. ‘Principia Mathematica’and 'Optics’are the famous books of Newton. He passed away in
1727 at the age of 85.

When was Sir Isaac Newton born?
1. 1642
2. 1640
3. 1650

4. 1648

Correct Answer :-

Topic:- Social Science (SSC)

1) What do you mean by ‘Eurytherm’ organisms? / “gyardl” (gtyw) el I ey Far quza 82
1. It does not need oxygen to survive. /3@ Siifad 1_6'3[ & %I'Q BRI BT AT R qﬁ@?ﬂl

2. It is able to tolerate a wide range of altitude. / g $ alé i Uh Ira%(jd %ji@IQ’II &l g6+ B

TEH BT 5 |

3. It is able to tolerate a wide range of PH value. / dg PH HIH P fﬁﬂﬁ?ﬂ'ﬁﬂ DI e P H gl
g g

4, It is able to tolerate a wide range of ambient temperatures. / g qRA=N dTaHl B Uh ﬁﬂﬂ
ST DI g B | G&H BT 8 |

Correct Answer :-

« Itis able to tolerate a wide range of ambient temperatures. / Ug qRA=N dTaHl B U ﬁﬂﬂ
ST DI g B H G&H BT 5 |

2) Which of the following was/were common to both Buddhism and Jainism?
1. Avoidance of extremities of penance and enjoyment.
2. Indifference to the authority of the Vedas.

3. Denial of efficacy of rituals.
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frafifa & @ 919 dig ol ok A9 o St & forg amrg ar

1. TURT 3R YN B} TRy Hr S g9+

2. 951 & PR & ufd IeRiar
3.38MI B YUTGHTRAT d SAPR

1. 1 only / Had 1

2.1and2/1Td2

3.2 only / had 2

4.1,2and3/1,2Td 3

Correct Answer :-

e 1,2and3/1,2Td 3

3) The position if the sun, the earth, and the moon are in straight line is called: / '\‘Iff, q%aﬁ 3T
g 3t Wi YT # e R RS &) ser e 3:

1. Cliff / foaw

2. Conjunction / gﬁf

3. Seiche / STAGIE )UZD(
4, syzygy/gﬁlﬁqﬁf%‘g’)@lﬁl%l@l(

Correct Answer :-

- Syzygy / Gfafagfa fog )Rrersfoi

4) The celebrated monarch known by the epithet “Devanamapiya Piyadaasi” was: /URIS I9Te
S Iy gy g frae=dt 7 | 9+ wrd A

1. Kanishka / H1%h

2. Ashoka / 3R0h

3. Chandragupta Vikramaditya / I fawaife
4. Akbar / 3{hdX

Correct Answer :-

o Ashoka/ 3Mbd

5) Kanishka’s rule extended over Afghanistan and part of north India and he had
established two capitals, One was Purushapura. Which was the other? | TSP BT
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T MBI SR IR HRA & o U= fasga o1 8k I g1 Irererf=rat o1
RTAT Bt 2ft, o0 S v B gougRT 1 gost Fi 3 i

1. Taxila / TerRIa
2. Mathura / HYXT

3. Pataliputra / tnﬁﬂga

4. Sakala / DTl

Correct Answer :-

« Mathura / HYRT

6) Under which dynasty, earliest inscriptional information on land grants is
provided? / foFd ISTGRT & 3feld, YA M W G UYH R@ATe@ SHER! g ot
Tt 82

1. The Mauryas / At
2. The Satavahanas / 9lddle
3. The Sakas / R[h

4. The Guptas / [t

Correct Answer :-

o The Satavahanas / dlddlgd

7) The Minimum Support Price was introduced in India in the year ./ gAdH

JUY o0 YR | a9 o O=T fopam T AT
1. 1964
2. 1984
3.1974

4. 1954

Correct Answer :-

» 1964

8) What is a favourable balance of trade? / SITUR T U AJHd Ao HT 82
1. Exports equals imports / i emard & SRR %

2. Exports must be greater than imports / fata smara @ sifdre Gl BlIRY
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3. Increase quotas / A EIETQ
4, Imports must be greater than exports / frata @ KL T 3fraTd 3Hfed gH BlIRY

Correct Answer :-

« Exports must be greater than imports / fata smara @ sifdre Gl ElIRY

9) aimed at providing credit or loan and other facilities to the small and marginal
farmers, agricultural labourers, artisans and small entrepreneurs in rural areas. /

BT 36 UTHior &= 1 B¢ oMk Hwia fram, Y uorgRl, FRITRI iR Bie Iuferal ot
BT A1 BT 3R 3 AT ye™ HeT |

1. The Mahatma Gandhi National Rural Employment Guarantee Act (MGNREGA) / HgTHT Tielt J1$1g TrHtor
ISR TR SHfAfas (F=m)

2. Prime Minister Rural Development Fellows Scheme / TUTEAT AT faem T Wredl At
3. The Rural area Regulatory Board / PG ERRRIEETCI)
4. The Regional Rural Banks / &317 U101 S

Correct Answer :-

« The Regional Rural Banks / &A1 YTHI0T CLY

10) What type of stream pattern develops on a dome type area? / foa yeR @1 3(uare CE|

Tag & TPR & &= # fepRia giar 82
1. Radial / 3R19 (f$Tan)

2. Parallel / FHHIOR

3. Dendritic / GHIPII® (JETHR)

4. Trellis / SITCIHT

Correct Answer :-

. Radial / 3119 (ST

11) In which river valley hominid fossil has been discovered in India? / HRd A feg Tt

1l A gifafre Shaw &1 @e 31 18 82
1. None of these /ﬁﬁﬁﬁéqﬁ
2. Ganges/ﬁTﬂ

3. Indus / ﬁf?:[
4. Narmada / THaT
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Correct Answer :-

« Narmada / :W:TET

12) Who reviews the distribution of revenues between the State and Local Governments on
the one hand and between rural and urban Local Governments on the other? / Td Gh?' MY
IR A BRI & d19 3R gast 3R AT 3R 68 W IR & o IoRa
& foavor &1 Feiten o a1 82

1. District Finance Commission / ﬁrﬁﬂ ﬁ?‘[ GrI'IThTT
2. Union Finance Commission / W fod SmamT
3. State Finance Commission / J1d o< SIMANT

4. Zilla Parishad / foTem uRue

Correct Answer :-

. State Finance Commission / J1og fad 3TIRT

13) Who is the head of the Indian Republic? / HRIII UG & WHH P 82

1. President / Tl'gqﬁf

2. Prime Minister / UHTTHAT
3. Parliament / 939G

4. Judiciary / ~TUIfeIepT

Correct Answer :-

14) Who is the author of “Deschooling Society”? / i | @ﬁm @'\‘TIBT&" & AGP P %'?
1. John Locke / -l b

2. Jacques Rousseau / g =41

3. Jean Piaget / S foamst

4. Tvan Illich / SaM 3o/

Correct Answer :-

« Ivan Ilich / 3T Sferd
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Who said that, “Non-alignment is more or less a residue of historical circumstances, we
cannot align ourselves with the West, with its colonialism, and there is no question of course

of joining the Soviet bloc”. / ﬁ’_\‘ﬁmﬁi “ﬂ?ﬁ?&&lﬂl Wmﬁﬁ?ﬁﬁmﬂ
P I1 HH 3RV g, TH W4 B! IUfHAREIE aTdl UfdH & A1y SiiS T8l ged, 3R
ifaad e # fa g1 &1 His Jara gl A8 817

1. Nehru / 3163
2. Krishna Menon / W[ o
3. Tito / fe€l

4. Nkrumah / ~<pHIg

Correct Answer :-

« Krishna Menon / [ o

16) Who is the overall in charge of the efficient and fair conduct of elections in the

concerned constituency? / Haferd IBCIEEEER: ﬂTﬂﬁ' & DA 3R freger Tera & 99g
U B 82

1. Polling officers / AGM 3{fUBRY

2. Returning Officer / BCIER] (ﬂ?ﬁﬂ'l) SHYHRY
3. Presiding officers / BRI G REIREIR]

4. Visiting / 3TIJdH

Correct Answer :-

+ Returning Officer / fafem (Refm) st

17) Who was known as “Hazar Dinari”? / "g9IIR ﬁ:ﬂ'\&” & g i | aﬁ? SIS IGR K
1. Balban / dcdd-d

2. Razia / o/

3. Mallik Kafur / FfcTeh STHR

4. ltutmish / Sed oI

Correct Answer :-

. Mallik Kafur / Afcieh HTHR

18) Finding the relation between “altitude” and “temperature” with the help of given

examples happens in which approach? / %q Mg G_Q"IETUﬁ G ke "wﬁ'lg" 3R
"ATYHT" & S e Y BT a1 ST 59 SURTH H giaT 3: -
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1. Concentric / Jobigd
2. Chronological / WW

3. Inductive / ATHATHD
4. Deductive / ]%F"T:IW

Correct Answer :-

o Inductive / ANTHATHD

19) In a Parliamentary form of executive it is essential that the Prime Minister has the

support of the majority in ./ ST prdw1olt # ug sava® % & yurwE &t
Ig0d BT 99dT HEl

1. Rajya Sabha / XIGIHHT

2. Parliament / TG

3. Lok Sabha / THBIHT

4. Vidhan Sabha / faTTaHT

Correct Answer :-

« Lok Sabha / Al HT

20) Receiving, responding, valuing, organizing and characterizing are the levels of which of

the following domain? / UTGd T, UfAfShdT 41, AT BT, SAAIRIT BT 3R quiF
P SH SAT S TR 8-

1. Affective / HIATHD

2. Revised Taxonomy / G AT
3. Psychomotor / H: P

4. Cognitive / IITATHD

Correct Answer :-

o Affective / HIAIHD

21) During the Mughal rule which of the following traders came to India first? / ¢l I

& SR Fufif@d § ¥ &9 91 TR ugs YR 31T 412
1. English / 3{USit
2. Danish/@ﬁ’sﬂ
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3. Dutch / &9

4. Portuguese / FJ_,?T"TIT’ﬁ
Correct Answer :-

« Portuguese / Q,?T"TIT"T

22) is a system of government in which the power is divided between a central
authority and various constituent units of the country. / YYHR B TP WUITet %
R 91 31 T FErg MR ok 331 3 Al ges soreal & &g Rvifm fsar
EIcIE]

1. Decentralization / WUT
2. Centralization / WUT
3. Federalism / §9dIG

4. Democracy / SFdd

Correct Answer :-

« Federalism / G9dIg

23) is a process that involves the assembling, storage, transportation, packaging
and distribution of different agricultural commodities across the country. /

wfehar g forad 331 wR F fafts o axgait & Taier, YsrRur, uRaes, ﬁﬂ?ﬁmsﬁ?
faarur anfa 1A 81

1. Rural development / PICIUREEES

2. Rural marketing / ITHTor fggur

3. Agricultural marketing / w fauue

4, Agricultural networking / ?ﬁf FeafdT

Correct Answer :-

« Agricultural marketing / 1% fdUM

24) The Planning Commission was set up in ./ TISTHT START ST TITYT A
1S A

1. 1960
2.1940
3.1950
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4. 1945

Correct Answer :-

« 1950

25) The evidence of pit dwellings have been discovered from which of the following Ancient

Indian sites? / FrEfIfEa & A f5 urtq YR wet @ Tafard & oo @t @i gs 82
1. Lothal / TUd

2. Burzahom / 91819

3. Ropar / TS

4. Kalibangan / TS

Correct Answer :-

e Burzahom / Tgﬁi@ﬂ

26) The most prominent challenge faced by a social science teacher is: / IS ﬁiﬂ"‘l

Rrere & TE 991 U I gl 8:
1. Inadequacy of text book and handbooks / UTSG] Y¥dh 3R gf'&\dchlx?rﬁ D1 oAt
2. Inadequacy of in-service training programs / JATHTC T UFRIE0 SHTAHH! DI T

3. Lack of proper evaluation tools and techniques / 3ferd J—L@Iid’)ﬂ JUBRUT 3R dh-1eh] BT U

4, Insufficient time to attain long-term objectives / EAINED G%Q?j f & TG o forg oAt
JHg

Correct Answer :-

« Insufficient time to attain long-term objectives / EAINED 3%52?3] f P T & forg gt

27) The most suitable approach to promote interactive environment in social science class is:

/ ATATRTD (AT B H&T T IR HaTgIHD URART &I Fe1dT ¢ & fore aad Iugad
Gican S

1. Frequent testing / e TR1&for

2. Showing documentation / AT I
3. Lecture and explanation / 4IRS 31:1? F?IWUT

4. Cooperative learning / Te®RI HIETH

Correct Answer :-
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« Cooperative learning / TgPRI ST

28) The method of inquiry-based learning which gives students time and support, they can
pose original question and investigate through their own methods is known as: / Sid-

et siftna Y usfa St o B wHa 3R FHYdT e FRdt 8, e d g ug @1
3T FHSIHR WU & 3P| S HIHH A S Hd €, B! A4 S =0 & S1-1 o711 8-

1. Structured inquiry / LRNEGRSIE)

2. Conformation inquiry / faeor it
3. Guided inquiry / 73 RId S

4. Open inquiry / E@K“ﬁ Sdc

Correct Answer :-

+ Open inquiry / Q?ﬁ Sidc

29) The Village and Small Scale Industries-Committee are also known as ./ UTH

IRFgITAMRAH  FEuH R EEIEEd
1. Desai Committee / aﬂ'l_sc giHfd

2. Krishnan Committee / PWq it

3. Karve Committee / P19 JTHd

4. Rao Committee / T ATl

Correct Answer :-

« Karve Committee / Wﬁﬂ'&lﬁf

30) The method that does not help to develop critical thinking skills among the students is: /

g faft =it o & o Heayf e P ReRa s A agg Adisedte, R
1. Rote learning / 3 fafe iy

2. Project based learning / OIS STt ffeTy

3. Collaborative learning / WTT’? 3R

4. Self-regulated learning / W-fafAafird siferm

Correct Answer :-

« Rote learning / o fafey 3fferTH
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The demerit of problem solving method is: / THXT frarur fafer &1 SIQIUT gl
1. It is purely individualistic in nature. / g W | ﬁ"xﬂ@' ¥U Y Hfgadre! % |

. . o\ C
2. It brings affective changes. / g HhRIHD YRdd Idl %l

3. It does not help in easy assimilation of knowledge. / dg I P AT AT HRH H Hag
el PRAT B

4, It does not develop power for critical thinking. / g g IEGEE foru e fasw Ria =1l war
gl

Correct Answer :-

- Itis purely individualistic in nature. / T8 Upfd ¥ faxs U ¥ fdqard! g1

32) The Government can present demands in the middle of the financial year if
it feels that more money is required than estimated in the annual budget. / YPIY fo<irg adf

& AT A 3t 7T (F$HTUS) URgd FR Tl ¢ dfe 39 TaT § b arfie aore &
UM T 3P ¢ Pt avaHar gl

1. Complementary / YId
2. Need — based / STARIHI-STYTR
3. Mid — term / AEATAfY

4. Supplementary demands / Y
Correct Answer :-

« Supplementary demands / SJYIP

33) Which one of the following is not the nature of social science? /Fafafea A d 4

T e 31 vt T 32

1. Study of man’s development through ages / ?’ﬁ | H™ & a9 &7 3fega
2. Study of human relationship / HI1d el &1 e

3. Unrealistic course of study / I hT 3 yefare ursashH

4, A unique combination of various subjects / faftr fomal &1 Udh 33l gt

Correct Answer :-

. Unrealistic course of study / 3G HT TYTIATS! GTddHH

34) Which one of the following is measured through CCE? Fafafead a fea ?ﬂ?ﬂg &
HISTH I HIYT ST 82
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1. Physical and motor development of students only / Phad B! BT ARIND 3R AHRID-Hael
faere |

2. Scholastic and co-scholastic achievement / W m BﬁT ﬂ_s'-m RUNIE]

3. Co-curricular achievement only / Had qe-UladdhH IUAfSy |
4. Gradients of scholastic achievement only / %ad Q& IUAf] & IAR-TIGIT |

Correct Answer :-

« Scholastic and co-scholastic achievement / %a ﬁ% 3?[? ﬂ%’ﬁf&@ RUNIE]

35) Which schedule of the Constitution prescribes a list of 18 functions to be performed by

the urban local bodies? /vﬁmaﬁmaaqsﬂﬁmﬁwﬁuﬁam‘rmﬁmaﬁ
a1 18 STl ot Ja! FAiia $t 15 32

1. 12t/ 124}
2. 9th/ odf
3. 10t / 10qt

4,11t /119

Correct Answer :-

. 12t/ 12gf

36) Which is the most suitable philosophical approach that is capable of inculcating absolute
values among students through the teaching of social studies? / dg Cack: |

SUY
RIf® TRHI0 8 SN "rHIoTS Srera=T & RIevr & Areay | B & 9t Tyl gedi &)
fawfa s A 9em 82

1. Realistic approach / gyTiaret Epeiu

2. Idealistic approach / 3ERIaTd! o
3. Naturalistic approach / m BRI
4, Pragmatic approach / eI EPHIu

Correct Answer :-

« Idealistic approach / TeRfard! EPHIoT

37) Which is the Lightest layer of the earth? / J2d1 @ HaH ged! URd &I |l 82
1. Lower Mantle / [l (WTAR )fI'EF[

2. Upper Mantle / $URT (AR ) Hed
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3. Crust / Y JUcT (YUcTa)
4. Core / @_6'

Correct Answer :-

. Crust/ Y JU<t (Yuea)

38) Which of the following methods is capable of enhancing psycho-motor abilities of

students? / FFrafaad & @ o1 3t A o= &Y 9. 0R® &mmaﬁﬁaaﬁﬁw&m%
1. Simulated method / STAH fafd
2. Work experience method / Eap SJHd fafd

3. Lecture method / SATRSAT fafe
4. Demonstration method / W fafer

Correct Answer :-

« Work experience method / Eap SJHd fafd

39) Which of the following is not the educational objective in the teaching of social studies? /

frafafad § @ o9 g srera & Rreaor § e Seza T8 2
1. Preservation of democracy as a value system / Hed JUITelt & =0 § cidha BT IRET

2. Creating and maintaining democratic citizenship / Aipdife AN BT fRHfor BT 3R
I BIH G

3. Conquering the territorial jurisdiction of neighboring countries / tl@ﬁf R & HUBR &F W
oo Ted BT

4. Peaceful co-existence of people in this earth / g8 q&‘:ﬁ TR AN &l '-‘lTlﬁl'cc[Uf Tg-31id

Correct Answer :-

+ Conquering the territorial jurisdiction of neighboring countries / tl?ﬁ?ﬂ o0 & PR &F R
[EEERISERE]

40) Which of the following type of Agriculture is also known as Jhoom cultivation in India? /

fFrafafea 9 9 {59 yoR 3 $N S URa d 537 Wt & 7 F +ft =1 S 82
1. Primitive substance agriculture / 3TTGH Teref Sy
2. Extensive substance agriculture / dUd Wﬁw

3. Extensive commercial grain cultivation / oTUd> IS 3 & Wt
4. Mixed farming / f0f%d EEL|
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Correct Answer :-

« Primitive substance agriculture / 3TTGH Wﬁw

41) Which of the following dynasty was ruling in India, when Alexander invaded India? /
frafafaa & 3 o149 a1 Iear YRd H M 6 ¥6T YT, 99 Ridey ¥ YR IR 3ThHvl
foar?

1. Nanda dynasty / ¢ 9T

2. Shunga dynasty / QI‘T Rl
3. Gupta dynasty / [t Rl

4, Mauryan dynasty / e a9

Correct Answer :-

« Nanda dynasty / ¢ 921

42) Which is recognised as one of the first environmental movements in the country? / foa

<2 # Uge qaiaroiiy Sfigierl # ¥ U & U | A= UTe 82
1. Chipko Movement / Rrge! stiqia
2. Kisan Movement / [ogT 3figiad

3. Lok Satta Movement / 1] \31‘IC':IQ'1"I

4. Narmada Bachao Aandolan / THET ST3M 3{TaIe

Correct Answer :-

« Chipko Movement / fIqa®! 3figiea

43) Which among the following is not a scoring tool to evaluate the quality of students? /

B B I HT i w31 & forg Frafafad & @ S a1 @R Suszor T8 @2
1. Rubrics / Sfsidh

2. Observation / 3dcilh=T

3. Checklist / AhIeRE

4. Rating scale / Jegdh OHTT

Correct Answer :-

« Observation / 3[ddlh
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44) Which among the following is one of the first commercial banks established in India? /

frafifed # @ 919 91 yRa § ®ifta yyw aiftifres dei A e o2
1. State Bank of India / HRA1I ¥T 8%

2. Bank of Hindustan / §& 3{{th %W

3. Bank of India / é$ 3B Q%“CIT

4, Central Bank of India / @?ﬁ’[ % 31h sfean

Correct Answer :-

« Bank of Hindustan / §& 3{Tth %W

45) Which one is not a characteristic of summative evaluation? / ﬁl’H | '\ﬁ' aﬁq TP
Y- &1 T fasiuar g 82

1. It is done on a continuum/%ﬁ@%% WWWWW%I
2. Knowledge of results is not possible / RUmH} &1 I IHT Ta! %I

3. It is used for promotion / ST IUANT Had YR & forw fwar Srar B

4. It is having a judgmental attitude / T8 T 3D T T B

Correct Answer :-

» Knowledge of results is not possible / gRomel &7 RIGKSEE] v_-lﬁ % |

46) How many Tirthankaras are in Jainism? / 3T & § faq didfew A2
1.24

2.4

3.34

4.14

Correct Answer :-

. 24

47) Who were Manu, Narada and Brihaspati? / Y, TR¢ Gﬁ?mﬁq 2
1. Mathematicians of ancient India. / U HRd & Wﬁk_ﬁﬂ

2. Jain scholars. / oI fagH|

3. Gods of Vedic religion. / 3f&d &H & STl
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4. Law givers of ancient India /U'I?ﬁ:[ HRd & YMEBR |

Correct Answer :-

 Law givers of ancient India /Dﬁﬂ:[ YRA & AMHDBR |

48) Deliberate reduction in the exchange value of a country’s monetary unit is termed as

. | U U B Aifge so1s & fafrma 4oy § sHqge? 3t T o i G|
STt 8

1. Depreciation / HedgRI

2. Revaluation / EHW

3. Re-evaluation / G- Jedidh
4. Devaluation / 3{dHcI

Correct Answer :-

 Devaluation / {dHcUq

49) National Rural Health Mission in India was launched on i Wﬁﬂ@'ﬂ
ITHior WA = ot H 3= o T AT

1. April 2010 / 30, 2010
2. April 2008 / 3f0d, 2008
3. April 2006 / 3/0d, 2006

4. April 2005 / 315d, 2005

Correct Answer :-
« April 2005 / 3fUd, 2005

50) Which economic system shows both the characteristic features of capitalist and
socialist system? / B 3t 3nfe yummedt ysiiardt oiv TuTTard! yumedt @t g1 fafkry fawanait
DI gl 82

1. Planned economic system / fAafora sifdfes gomedt
2. Command economic system / e Rma i gomett
3. Market economic system / STSIIX e gomeRt

4. Mixed economic system / i3 snfde vome

Correct Answer :-

« Mixed economic system / TH3d 3{ffes gomelt
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51) CANCELLED

Who among the following are not the women Presidents of Indian National Congress? /

Frufafaa 9 @ o9 yRdta Ifta S $t afeer srae 6t 9
1. Kamala Devi Chattopadhyaya / HHATGAl %@m"am‘r

2. Aruna Asaf Ali / 3{SUI 3T it

3. Annie Besant / Q:ﬁ e

4. Sarojini Naidu / TRIFSH A1Ig

Correct Answer :-

« Kamala Devi Chattopadhyaya / Gl aé qrearg

52) Which legendary Sufi saint of Chishti order was popularly known as ‘Chirag-e-Dehlavi

(Chirag of Delhi)*? / Iz} suawu1 & f5 wRis Yl Ha &t “RRI-u-dged (Reeht &1
RRTTy” & ATH ST ST 91

1. Abu Ahmad Chisti / 3¢ 3/gH¢ fa=at

2. Shaikh Nasiruddin Mahmud / g TS84 HgHa
3. Qutbuddin Bakhtiyar Kaki / g~ SR&IAR blcbl
4. Nizamuddin Auliya / FoTE Sfferan

Correct Answer :-

. Shaikh Nasiruddin Mahmud / }d THea - HgHa

53) Which ruler shifted the Ashokan Pillars from Topra and Meerut to New Delhi? / foa

URIP 9 AWRT 3R A A 3=MP TH B 73 e A R=iafyd fear
1. Balban / dcfdq
2. Muhammad Bin Tuglaq / HeHq fo [UNEE

3. Giyasuddin Tughlaq / FTAITRIEM el
4. Firoz Shah Tughlaq / IERERIE [INED

Correct Answer :-

+ Firoz Shah Tughlaq / IERERIE UINED

54) Kavi Vatsal was a title assumed by which Satavahana king? / “Hfd THA” Udh RILEG
T Araare=t e gRT S un?
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1. Yajna sri satkarni / 31 It e uft

2. Vasisthaputra Pulumavi / E@TQQ?[ W
3. Hala / &Tdl

4. Gautamiputra Satkani / Tﬁ?ﬁﬂ"}ﬁ o ff

Correct Answer :-

o Hala/@gldl

55) International Network of Bamboo & Rattan (INBAR) is located at? / i 3R Sa BT

Sfereigia Aead (ETTaR) Tl O R 7
1. Colombo / HIcia]

2. Guwabhati / W'I_cpf

3. Beijing / CilSHI

4. Dhaka / Gl

Correct Answer :-
« Beijing / SITSHT

56) Which of the following strait separates USA & Russia? / Frafafaa & 9 19

e SR 3R w4 P ST el 82
1. Bering Strait / ST STy

2. Semiostrovskiy Reid / ﬁ\’rﬁ’@a‘?ﬁ de

3. Fram Strait / ToTH STQE(Y

4. M’Clure Strait / UH deX ERLGID

Correct Answer :-

« Bering Strait / ST STerifY

57) ‘Silent Spring’ is an important book published in 1962. It documented the adverse effect
on the environment by the indiscriminate use of the pesticides. Who is the author of this

book? / ‘WTgEIE fBAT, 1962 W UHTIRIA UH HE@yUl Y¥dP & | S BIeARID] & LTy
ITINT I YAaR01 R USH ardl Ufapd UHTd & IR § foraT 81 59 Y@ & a® $i- o2

1. Annie Dillard / T} f&aTS
2. Virginia Arthur / goiffar 3Rk


https://applink.adda247.com/d/XhqWf9lSap

e
Google Play

3. Kathryn Miles / PRI IS
4. Rachel Carson / JT2d W

Correct Answer :-

« Rachel Carson / JIRId W

58) Which among the following states is built the Bharat Bangladesh Moitree Udyan? /

fFrafafEa & A frw Toa ¥ uRa g A I s 32
1. West Bengal / Ufge &

2. Tripura / ﬁER[

3. Meghalaya / |

4. Nagaland / ITIeS

Correct Answer :-

 Tripura/ ﬁﬁ_ﬂ

59) Anemometer is used to measure which of the following. / fafrfead @ fFa ama &
forg ThmdfieR &1 Sy fear s 3|

1. Wind Velocity / Yd- T

2. Wind Direction / Ua+ &1 fa=
3. Humidity / 3G

4. Air Pressure / dIg qId

Correct Answer :-

« Wind Velocity / Ja- ol

60) Falkland Island is a disputed territory between? / Blhdas v fras d= Udh faarfea
CERY

1. West Indies and Spain / atdiisnlvl 3R W

2. Uruguay and France / 391d 3R BTN

3. Chile and Ecuador / fIei GﬁT g@ﬂ@ﬁ?
4. Argentina and UK / SIS 3R @

Correct Answer :-

+ Argentina and UK / SIS 3R @


https://applink.adda247.com/d/XhqWf9lSap
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